



7350 Transit Road Williamsville, NY 14221

Account Manager: Bryan Knapp Phone: (614) 557-7965 Fax: (716) 204-2521 Email: bknapp@livefit.com

To place this order, please complete Terms & Conditions, sign and email to: commercial@livefit.com

BILL TO

Columbus Division Of Fire [156411] 3675 Parsons Avenue

Columbus, OH 43215

Contact 1: Rod Brown 614-221-3132 Xt75461

Contact 2:

SHIP TO

Columbus Division Of Fire Station #10 1096 West Broad Street Columbus, OH

Contact: Rod Brown 614-221-3132 Xt75461

Email: rwbrown@columbus.gov

Phone: Fax: Cell:

Description	Qty	Price	Ext. Price
Octane Airdyne X Heavy Commercial	1	\$1,099.00	\$1,099.00
Model: 100662			
Octane Max Ro Rower	1	\$1,169.00	\$1,169.00
Model: 100877			
Bravo Functional Trainer 4:1, 325lb Stack, Tall Cu	1	\$6,000.00	\$6,000.00
Model: 8840		****	*****
Commercial Trx W/rubber Handles	2	\$169.00	\$338.00
Model: TRXCLUB4		407.00	A7400
36x6 Eva Foam Roller Gronk Ftness	2	\$37.00	\$74.00
Model: 100-2368		ФОГ ОО	ΦΕΟ ΟΟ
72" Padded Exercise Mat Gronk Fitness Model: 100-4737	2	\$25.00	\$50.00
Gronk Multi Grip Chin Up Bar,wallmounted.	1	\$100.00	\$100.00
Model: 80046	ı	φ100.00	φ100.00
Gronk Latex Superband X-light,black Band	2	\$16.00	\$32.00
Model: 80031	2	φ10.00	φ32.00
Gronk Latex Superband Light, Purple Band	2	\$19.00	\$38.00
Model: 80032	2	ψ13.00	Ψ30.00
Gronk Latex Superband Medium, Green Band	2	\$23.00	\$46.00
Model: 80033	_	Ψ20.00	Ψ10.00
2.5 Blue Stretch Band Gronk Fitness	2	\$36.00	\$72.00
Model: 100-2661	_	ψου.σο	Ψ. Ξ.σσ
3 1/2" Orange Stretch Band Gronk Fitness	2	\$38.00	\$76.00
Model: 100-2793		,	,
Gronk Pro Slam Ball 10lb Black	1	\$31.00	\$31.00
Model: 100-5358			
Gronk Pro Slam Ball 20lb Black	1	\$47.00	\$47.00
Model: 100-5361			
Cable Speed Rope W/bearings Gronk Fitness	1	\$15.00	\$15.00
Model: 100-3862			
Adjustible Bench Non Dockn Lock	1	\$837.00	\$837.00
Model: HDT-MAB			
65cm Anti-burst Exercise Ball Gronk Fitness	1	\$42.00	\$42.00
Model: 100-1897			
Kettlebell Cast 16kg 35 Lbs, Yellow Band	1	\$55.00	\$55.00
Model: KB-16		\$70.00	470.00
Kettlebell Cast 24kg 53 Lbs, Green Band	1	\$79.00	\$79.00
Model: KB-24		#40.00	#20 00
Power Systems Versa-loop Kit	2	\$19.00	\$38.00
Model: 99974	1	¢50.00	\$59.00
Wall Mount Rope Hanger Gronk Fitness Model: 100-2915	I	\$59.00	\$59.00
Model: 100-2915			

H 11 (B A 1 A 1 A 1 E)		#05.00	#05.00
Undulation Rope Anchor Gronk Fitness Model: 100-2914	1	\$25.00	\$25.00
Gronk Fitness 30ft Battle Rope/undulation W/sleeve	1	\$144.00	\$144.00
Model: 100-80035			
Hammer Wall Ball 14lb 14in Diablk Gray	1	\$95.00	\$95.00
Model: ACC-WB-1005			
Hammer Wall Ball 20lb 14in Diablk Gray	1	\$113.00	\$113.00
Model: ACC-WB-1008			
Life Fitness Surcharge	1	\$421.74	\$421.74
Model: L			
Octane Pro3700 Classic Base	1	\$2,189.00	\$2,189.00
Model: 8020939			
Octane Pro3700 Standard Console	1	\$800.00	\$800.00
Model: 8021006			
	Delivery/Asse	Delivery/Assembly	
	Taxable Subtotal		\$15,191.92
Comments:	Sales	Tax 0%	\$0.00
	то	TAL	\$15,191.92

Important Notes and Specifications

Estimated Lead Time: Cardio lead times are approximately 4 weeks, Strength lead times are approximately 12 weeks, Custom logo lead times 12-16 weeks.

Requirements: All treadmills require a 120 volt 20 amp dedicated outlet (NEMA 5-20R receptacle). 220 volt treadmills are special order and require an 8 week lead time.

Bolt-down Requirements: If applicable, strength machines require a minimum of 2.5" of concrete anchor embeddment not including any rubber flooring or overlays. Concrete thickness must be a minimum of 4.75". All ledger boards will be an additional charge. Extra charges may apply if your facility is found to not meet these requirements at installation time. The mounting of all wall-mounted products are the responsibility of the owner.

Delivery Cancellations: All delivery cancellations require 24 hours notification. If cancelled with less than 24 hours notice, charges may apply.

Image Disclaimer: All efforts were taken to make item images as accurate as possible, however, images on quotes are for representation purposes only and may not be exactly to your specific equipment options.

Desired Delivery Date LINDECIDED

Desired Delivery Date	UNDECIDED	Frame Color	PLATINOM					
Floor of Delivery Date	YES	Upholstery Color	BLACK					
Door Size	36	Power Cord Length	N/A					
Lift Gate Required	YES							
have read and unders	stand all requirem	nents listed above: _		_(initials)				
Terms and Conditions								
Please select the pa	ayment terms des	sired:						
Pre-paid: 50% (o	or more) of total inv	voice due as down-pay	yment when ordel	r is placed. Balance due prior to scheduling				
(Initials)								
Net Day		edit or government pu	rchase order. Full	payment will be due on or before the the				
(Initials)								

- 1. Any and all late payments will be assessed a 1.5% late fee charged on the remaining outstanding balance. Additional late fee charges will accrue thereafter at a rate of 1.5% per 10 day period. Orders with Pre-pay or COD terms will be effectively due on day of delivery for purposes of late charge calcualtions.
- 2. If partial deliveries are accepted by the customer, payment for those items is due as they are delivered, per the terms of the sale.
- 3. G&G Fitness Equipment, Inc. reserves the right to reacquire any equipment equal to the dollar amount owed, including late fees, interest, extraction fees and other professional and/or attoney's fees related to the prior collection attempts of monies owed to G&G Fitness Equipment, Inc., should late payments exceed 14 days or if regular payment schedules are defaulted at any time.
- 4. Any and all attorney's fees and other agency fees that may result from non-payment will be charged to the party in default and may be subject to all applicable late fees and charges.
- 5. Terms and Conditions of sale which appear on purchaser's documents (including purchase orders) and which are inconsistent with these terms shall be null and void.
- 6. Orders canceled after shipment (or after production starts for built-to-order products) are subject to a 20% restocking fee.
- 7. Delays in delivery at customer request are subject to storage fees of \$10 per month per piece.
- 8. Customers with sites located beyond twenty-five miles from our nearest service depot may be responsible for additional travel charges for service on equipment even when covered under a manufacturer's labor warranty.
- 9. Orders over five thousand dollars paid with a credit card will incur a 2% convenience fee.

Quote Valid for 30 Days

By signing you affirm that you are authorized to enter into a purchase agreement on behalf of the aforementioned organization and that you have read and agreed to all specifications, terms and conditions.